Describe the effect of the transformation for the parent function.

5. 100 = Vert cell vefAe et

6. hx) = (x+ by Franstdhon h

7. 90 =(x -h )? +7 dn sl A AN A R

8. hx) = %+ k Hravclafos K UL

i =x—k Frowd (o K O

15, Vocheed strefeh of (al>(

Vet cod shrn e oF jal< |

11) For each graph:

a) State the transformation. | [ {lis l(dl@f\ {b
b) Sketch the new

saph weth of 2
. Vel S e
ftx) = f(x) = 1 - fx) =2tx)

2 X / ]
e :‘\ + d ’// I — .\\ ;
-3 & | & =1ge 5
o X - X #e)
EATE - =g -3 |}
=31 a2 -2 |7
"y ] 0|0 0
O\ |l Z , 2 |
1|0
21 -



